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DOUBLE SKUNK
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Deal nine

You are +9 (your crib)
Jake is -3

Your par is 111

To your crib

“Thirteen’’

“Twenty-five”

Starter

{score one)

““Three"” “Eleven’’
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“Four” “Twenty-three’’

Summary: once again the starter
card assured you of exceeding
par 111, allowing you to peg de-
fensively. Jake scored an average
11 points and is 2 points short of

" winning the game. The crib con-

tained 6 points andyourtotalscore
for deal nine is 21 points...more
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“Eight”

‘““Thirty-one’’
{score two)

thanenoughtowinthe game. Play-
ing defensively, after Jake's high-
scoring deal four, has won the
game for you. The Cribbage Law
of Averages and the "Twenty-six
Theory" has rewarded you with
another "squeeker” victory!
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